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Simplification

1.  ?......5555 

(a) 1 (b) 16

15

5
(c) 5 (d) 25

2.  ?6666 

(a) 6 (b) 16

15

6

(c) 15

16

6 (d) 36

3. ?........666 
(a) 2 (b) 3
(c) 6 (d) 1

4. 
?........121212 

(a) 3 (b) 4
(c) 12 (d) 1

5. ?........121212 
(a) 3 (b) 4
(c) 12 (d) 1

6. ?919122920 

(a) 5 (b) 4
(c) 3 (d) 2

7. ?1227 

(a) 23  (b) 23 

(c) 73  (d) 73 

8. ?215 

(a)  37
2

1
 (b)  37

2

1


(c)  35
2

1
 (d)  35

2

1


9. If 16
1

4







 

x
x  then the value of 100

100 1

x
x   is

(a) 2 (b) 2
(c) 100 (d) None of these

10.   If  38
1

2

2 
x

x . Find the value of 
3

3 1

x
x   is.

(a) 234 (b) 398
(c) 36 (d) 14

11.   If  4
p

q

q

p
. Find the value of 

3

3

3

3

p

q

q

p
  is.

(a) 534 (b) 536

(c) 538 (d) 524

12.   If  14
2

2

2

2


x

y

y

x . Find the value of 
3

3

3

3

x

y

y

x
  is.

(a) 50 (b) 52
(c) 66 (d) 76

13.  If 
3

2

1

1
2

2





xx

xx
. Find the value of 






 

x
x

1
 is

(a) 3 (b) 4
(c) 5 (d) 6

14.  If   32244  xx . Find the value of  1 xx  is

(a) 2 (b) 5

(c) 2 (d)  4

15. 
9.03.03.02.02.09.03.03.02.02.09.09.0

3.02.09.033.03.03.02.02.02.09.09.09.0




=?
(a) 1.4 (b) 0.054
(c) 0.8 (d) 1.0

16.  If 4
1

2 
P

P . Find the value of 3

3

8

1

P
P 

(a) 4 (b) 5
(c) 8 (d) 15
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17. If 11a  9b . Find the value of 33

22

ba

abba




(a) 
2

1
(b) 2

(c) 
20

1
(d) 20

18. If 1819  yandx . Find the value of

33

22

yx

xyyx




(a) 1 (b) 37
(c) 324 (d) 361

19. If 2
1







 

x
x . Find the value of 3

3 1

x
x 

(a) 3 (b) 2
(c) 1 (d) 0

20. If 1
2

2 
x

x . Find the value of 
3

3 1

x
x 

(a) 
8

13
(b) 

8

11

(c) 
8

11
(d) 

8

13

21. If 4
3

1
2 

x
x . Find the value of 3

3

8

1
27

x
x 

(a) 91 (b) 234
(c) 243 (d) 242

22.  If 2
1


x
x . Find the value of 

353

22
2

2



xx

x

(a) 
11

4
(b) 

2

1

(c) 
4

3
1 (d) 

3

1
2

23. If 2
1


x
x . Find the value of 

x
x

1


(a) 2 (b) 2

(c) 12  (d) 1

24.  If 02
1


a

a  then the value of 100

37 1

a
a   is

(a) 0 (b) 2
(c) 1 (d)   2

25.  If 36
1

3

3 





 

x
x  than the value of 






 

x
x

1
 is

(a) 1 (b) 2
(c) 3 (d) 4

26.  If 4
1


x
x  then the value of 

12

1

2

2

4





xx
x

x
 is

(a) 52 (b) 26
(c) 64 (d) 13

27.  63 223.21   is equal to

(a) 22  (b) 12 

(c) 1 (d) 223

28. .............
4.3

1

3.2

1

2.1

1
 ?

12.11

1


(a) 
8

11
(b) 

12

11

(c) 
6

11
(d) 

10

11

29. ?
132

1

110

1

90

1

72

1

56

1

42

1

30

1

20

1


(a) 
8

1
(b) 

7

1

(c) 
6

1
(d) 

10

1


30. If 644096   then the value of

00004096.0004096.04096.096.40 
is

(a) 7.09 (b) 7.10
(c) 7.11 (d) 7.12

31. If 
   
   

2
44

44






xx

xx
 then the vlaue of x:

(a) 2.4 (b) 3.2
(c) 4 (d)   5

32. ?
22

22
1

1
















nn

nn

(a) 1 (b) 
2

1

(c) 
2

3
(d)   0
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33. ?.....42424270074 

(a) 12 (b) 10
(c) 9 (d)   None of these

34. Which one of the following is at least?

1113,1315,1517,1719 

(a) 1719  (b) 1517 

(c) 1315  (d)   1113 
35. Find the value of-

4

1

....62525375151255

....401024682









(a) 
7

2
(b) 

5

2

(c) 
7

3
(d)   

5

3

36. Find the value of







 





 






 





 





 

22222 12

1
1

11

1
1........

5

1
1

4

1
1

3

1
1

(a) 
18

13
(b) 

19

15

(c) 
23

21
(d)   

21

13

37. If ,0343 2  xx  then the value of 
x

x
1

  is:

(a) 
4

3
(b) 

3

4

(c) 3 (d)   4

38. If 2
1


x
x  find the value of 






 





 

3

3

2

2 11

x
x

x
x  is:

(a) 6 (b) 4
(c) 8 (d)  2

39.If 
35

35

35

35
2








x , then the value of x

is:
(a) 30 (b) 15

(c) 15 (d)  6

40.  ?
876543876543

8765448765421





(a) 0 (b) 1
(c) 2 (d)  3

41.  If 
23

23
,

23

23








 ba  then the value of

a

b

b

a 22

  is:

(a) 970 (b) 1030
(c) 930 (d)  900

70. If 5633  ba  and 2 ba , then the value of
22 ba   is:

(a) 12 (b) 20

(c) 18 (d) 10

42. If 98
1

2

2 
a

a , then the value of 3

3 1

a
a   is:

(a) 535 (b) 1030
(c) 790 (d) 970

43. If 32,32  yx  then the value of

33

22

yx

yx




 is:

(a) 
38

7
(b) 

40

7

(c) 
19

7
(d) 

26

7

44. If ,5
3

1
5 

a
a  then the value of 

2

2

25

1
9

a
a   is:

(a) 
5

34
(b) 

5

39

(c) 
5

42
(d) 

5

52

45. If ,732.13   then the value of

503212235

63




 is:

(a) 4.899 (b) 2.551
(c) 1.4141 (d) 1.732

46. If ,
2

3
x  then the value of xx  11  is:

(a) 
3

1
(b) 32

(c) 3 (d) 2
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47. If 119
1

4

4 
x

x  then the value of 
x

x
1

  is:

(a) 4 (b) 9
(c) 3 (d) 2

48. If 12,12  ba  then the value of

1

1

1

1




 ba
 is:

(a) 9 (b) 3
(c) 1 (d) 2

49.If 223x then the value of 
3

246 1

x

xxx   is:

(a) 192 (b) 240
(c) 204 (d) 212

50. If 3533  yx  and 5 yx  then the value of











yx

11
 is:

(a) 
7

4
(b) 

8

3

(c) 
6

5
(d) 

5

3

51.  If 
32

3




x  and ,
32

32




y  then the value of

xyyx  22  is:

(a) 195 (b) 200
(c) 175 (d) 185

52.  If 3
1


x
x then the value of 5

5 1

x
x   is:

(a) 123 (b) 126
(c) 113 (d) 129

53. If xx 212  then the value of 
13

1

2

2

4





xx
x

x
 is:

(a) 2 (b) 2
(c) 0 (d) 1

54.  If 16
1

2







 

x
x  then the value of 6

6 1

x
x   is:

(a) 2744 (b) 2702
(c) 2704 (d) 2742

55. ?
72

1

56

1

42

1

30

1

20

1

12

1

6

1

9

1


(a) 
2

1
(b) 0

(c) 
9

1
(d) 

2520

1

56. ?4.0 

(a) 8.0 (b) 6.0

(c) 7.0 (d) 9.0

57. ?037.03 

(a) 0.3 (b) 3.0

(c) 6.0 (d)  6.0

58. ?

5
4

1

3
1

2
1 






(a) 
4

7
(b) 

7

4

(c) 
5

7
(d)  

7

3

59. If 5633  ba  and 2 ba , then the value of
22 ba   is:

(a) 12 (b) 20

(c) 18 (d) 10

60. ?342.0 

(a) 
495

116
(b) 

99

234

(c) 
990

214
(d)  

99

108

61.

?
45

1

56

1

67

1

78

1

89

1















(a) more then 3 (b) 0
(c) less then 3 (d)  None of these

62.   ?
22

1

22

1
22 






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(a) 22 (b) 2

(c) 22 (d)  22

63.     ?
99100

1
........

34

1

23

1

12

1












(a) 9 (b) 10
(c) 11 (d)  12

64. Which one is smallest 33 4,2,2,3

(a) 3 (b) 3 2

(c) 2 (d)  3 4

65.

4
1

1

1
3

1
2

1





= ?

(a) 
43

19
(b) 

19

43

(c) 
84

17
(d) 

97

16

66. What is the value of

?
19

1
1.....

9

1
1

8

1
1

7

1
1 






 






 





 





 

(a) 
10


(b) 

19

6

(c) 
13

17
(d) 

2

9

67. The value of 
5

3

4

1
8

5

1
13

8

1
4

3

1
5  is-

(a) 
3

1
2 (b) 

5

1
11

(c) 23 (d) 10

68.
27.427.427.473.873.873.8

27.427.427.473.873.873.8




 is equal to:

(a) 11 (b) 
7

4
1

(c) 13 (d) 
11

1
9

69. What is the value of–

666888

333444




(a) 250  (b) 751
(c) 251 (d) 1250 

70. If 
1070

1
1.....

4

1
1

3

1
1

2

1
1

x







 






 





 





  , then

what is the value of x?

(a) 
7

1
(b) 7

(c) 
70

1
(d) 70

ANSWERS

13. (c)
14. (d)
15. (a)
16. (b)
17. (a)
18. (a)
19. (b)
20. (b)
21. (c)
22. (a)
23. (b)
24. (b)

1. (c)
2. (b)
3. (b)
4. (a)
5. (b)
6. (a)
7. (a)
8. (a)
9. (a)
10. (a)
11. (a)
12. (b)

25. (c)
26. (b)
27. (c)
28. (b)
29. (c)
30. (c)
31. (d)
32. (c)
33. (a)
34. (a)
35. (b)
36. (a)

37. (b)
38. (b)
39. (b)
40. (b)
41. (a)
42. (d)
43. (d)
44. (b)
45. (d)
46. (c)
47. (c)
48. (c)

49. (c)
50. (c)
51. (a)
52. (a)
53. (b)
54. (b)
55. (a)
56. (b)
57. (b)
58. (a)
59. (b)
60. (a)

61. (a)
62. (c)
63. (a)
64. (b)
65. (a)
66. (b)
67. (c)
68. (c)
69. (d)
70. (a)


